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ool Py« aet 3ok . O G ) et 2 oregds 1))

Note : Attempt all Questions. Eath AT : AW o wfved ¥} o RS

guestion carries aqual marks. THA &1
1. The domain of the function L. o r[g)-%i R
flx) - 20X o
X (A) R
(A) R
(8) R-{0}
(8) R-{0}
(C) R-{0,1) (C) R-{0,1}
(O Rt (©) R-{1)
lhm, ... IS*;W'I is equal tg : 2. fim, . is‘:x--l FUARE:
(A) 1 (M1
(8) 0 (8) ©
(C) -1 (C) -1

(D) 2 (D) 2
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w1 ez
© 3 (o) 0
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8. tlﬂt(m&c Xy -

{a) 1 () 3
(cy -3 (D} -1
g, Circular asymptote of the curve
3B
r- hr 1 Is
A =6 (B) r--“‘—
(A} r= el
3 D) f- =
(CJ r= ( J "'3

10, Asymptotes parallal te x-axis of the
curve ey +2xy’-Axi-y+1=0
are
(A} y=1t2 (B) y-+3

(C) vy +4 (C) v~ =i
11. Tha relation between 'p' and 'r’ for
given curve is calied its
(A) Cartesian eguation
(B) Polar equation
{C} Padal Equation

(D) None of these
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cdahﬁm:

(A} Pale

(B) Inmallne -
(C) Theline 0- 7

(D) There is no symmaotry

13. Thetangent of the curve xy'=al{a-

x) at point (a, 0) is paralial to
(A) x-axis
(8) y-axis
(C) y=x
(D) y=-x
a. jx".e”ox=
(a) 4
(8) 7
(c) 3
) 2
. Which of the tollowing is correct
about B function

;woa'sunuone[uu'mmmy:sdnq

{A) B{m,n) = B(n,m)

(B} B{m,n) = B(-m,-n}

(€) s(mny = B 2|

(0} Nane of these
596 /V

4]

13.

14,

15.

o3 xv;ga?tgggjt;ﬁé'_ ? rF

(A) x-3& 1—1#
(B) y-3ar |
(C) y=x
(D} y=-x

[ .e?dx ~
(A) 4

(B) 7

(C) 3 1
© :
M1 G ¥ g0 A Fla W ad &

(A) B{m.n) = B{n,m) .
(B} B(m.n) = B(~-m,-n)

Bt

(C) B(mln) = i1 n)

(D) 39dne &3 T3



18, The curvature of a curve at a point

of inflexion is

(ay 1

B O
cy -1
(D) None of these

19, If f(x) = 4%°, then the value of ¢ in

the ielesval (=1, 3) for which ()

WO UI[UONB[WLI MMM //:sdNY

31 K1)

4
() © (8) 1
() 2 (D) 3

0. The curve x=a ¢os'd y=a sin’i is
symmetrical about
(A) bath the axes
(B) x-axis only
{C) v-axis only

(C) None of the two axas
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16. The arca af the curve r=a s
(A) za’ (8} 2=a
S I P ) 2za

i7. The value nf  integrai
e vy s
(a) 1 {B) ©
© 3 © 5

(5]

19.

20.

@ 2 t

(A) 1

(B O

{Cy -1

(D) T ® B 7

T fix) = ax, WA ¢ mmm

(-1, 3) 7, mr(ca-"‘” .4_,"'1

¢ #m:

(a) 0 ®) 1
(<) 2 D) 3 :
g x=a c0s3, y=3 sin’o FHiE @ -
(a) i 2 ¥ oRen:

(B) e x-30y H R '
(C) Ham y-¥E & TRa:
(DY vt & ¥ ot A o ¥ ofte &

P.T.O. .

e
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N

=2 1[5 -
(A) 1
(8) 4
(€Y
(D) O

23. The curve (x-2)" = y (y-1)° at the

point {2, 1) has a

(A} Cusp

(B} Node

{C) isnlated point

(D} none of the above

24. By Maclaurin's theorem, the sec-

ond term in the expansion of

e
lie
(A} O

X
(B) P

X
(C) a8

i3
(O} 28

696/V
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23.

24,

g (2, )z (x-2y =7y
v ¥ 0w - R
(A} Jvrmmr
(B) ey
(C) fagrs
(D) mﬁ}'b’lhﬁ

(A} O

) 3

() 35 '
(0} —3-;-
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25. I txyie) = Sxdyzis,

the value of X5 ¢ vg-mg’-;n |
(A) f |
(B) 2f
(C) 4f
(D) 3f

<6. The point at which the tangent to
the curve v = x3-3x+1 is parallel
to x axis is
(Ay (1, ~1)
(8) {0, 1}
{C) (2, 4)
(3} (-2, -4)

27. The angic of interseclion of curve

xy=a? and x“+y’ = 2a’ is

(A}

g

(C)

(D)

T N - N

Fyd ) gl
"u-sm"l. Y

]
hv‘]then

(A) tan u
(B) cot y
(C} tan®u
(D) cot? u

27. Wb xy=at mﬁi@

gl g - - o
(A) 3

{(B) O
(C)
{D}



WO 3UTUONE[ULL MMM //:Sd1y

(A) 1
(8) 0
(cy e
() I

30. The value of timit 110/ .

“ 1

(8) 10
(C) 0
(D) =

31, The function fix) - I—:--' at x=0 has:

(A} discontinuity of first kind

(3 discontinuity of second kind
2 mixed discontinuity

(D) continwous

22. The function f(x) = |x- 1] is not dif-

ferentiadle at ;

(A) x=~ 0

(B) x= -1

(C) x=1

(C) x=2
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31.

32.

(8) 10

(c) 0
(D) =»
Hew f{(x) - l--;J-, X=0 | :

(A) TOH TR T R
(8) Tadta waw B e
(C) Wfsa smma 3
() T o
W f(x)=|x~1| ﬁnﬁmmﬁm
SCEE o
Ay x=10

(B) x= -1

(C)y x=1

(D) x=12



.
. L

33. Function f(x) = |x{ at ¥=0t -
(A) is discontinuous '
(B} is continuous and differentiable
{C} 1= continuous but not difforen-

tiable
(D) neither contnuaus nor differs

entiaole
34. D'{log(ax - b)} iz cquat to

(-1)"nta’
() fex by

{(-1)"tn-1jta" ¢

{B} fax ' b)) ' § + L
(-1)"'{n-1)a" __(_k"l)” n ‘}‘__ '_»:'
n-1 n-' LIRS
(-1)" - 118" (-1 (- ta”
© © e Ae v
. B x; ; L -_",
35 (¢ U-'ﬂ",x y |rhen. 35. m”‘ml[ﬁ] W
(A x;;*yfuwcoﬁ:‘u (A x}'- oy%*mth
u n PR Y| Tl
(8) xf—; y;;v— - lan2u (e xa-yz_‘;-stanm
C xiq'-i-s .,,it"? - sin2u x =sin2u -
(C) X547 4 (C) v;,; %
i Y - A fu Wi
(D) x:;;+y;?—c032u )] x-&-ayzfpcosh
36, {7~ <log(i  x) - x holds for 36, o <logliex) < x R
{A) = =0 (A} x=0
(B x>14 (8) x>0
(C} x<0 (C} x<0
(D) x>1 (D} x=1
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38 Pedal equation p=r represents :
A} acirde |
{8) anellipse
(C) a parabola
(0} & hyperbole
39. Maximum value of I-Q%-’f NG < x <«
is:
(A} e
(B) 1/e
(C) ef
(D) 1fe?

woo suIuoneuL Mmm//:sdny

ox

40. Maximum value of xy if +% =1
is

(A) (ab)/4

(B) {ab)/2

{C) ab

(D) (ab)’

638/v

(10}

. xy B WA HIR, 3 X +'%"=-‘.l.--ﬁi-

(D} 1/e?

a .
(A} (ab)/a
(B) (ab)i2 |
(C} ab .
(b) (ab?
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. ol -
*4:: ..
e ECL
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41. 'I';"'f"’ ' R 1%
(A) O
(B) <0
() =0
) 1
42. The asymptotes of the curve
wiyi=ai(x’ iy4), are
(A) x-+ay=0
{B) »=d,y=~-1
{C)

(D) x=7ra,y-=a

X=~]l,y=-a

43, Radius of curvature for the curve
y=f(%) 15 :

1372
(A) _1+(dwdx_)]

d’y /dx’
(L (dy/dx)
: dzrfdxz _
Latdysdxy
(€) - dy/dx
=147

"1 (dy/dxy

44, Radius of curvature at (s, ) on the

Curve s=¢ log sec v

{A) csecw

(B} ccot w

(C) ctan v

(D) < cosed ¥
696/V
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G
e
AP
o

e 3= &
(A) csecw
(B} ccot w’
(C) ctan v
(D) ¢ cosec v
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49, TNe radius of curvature for the. <7 45 3w
carve p=t(r) s :

(ay p f‘-:—rE

a
=
8] » a5

€y o=

46, The value of hm o ;P-:- is nqual ta- 46, lim 1A - :
(A) lag!g—! (A) Iog[—:}]
b b
(8) g, (8) iﬂg[;}
{C} o (Cy 0
Oy 1 (D) 1
47, If x = 1 cosu, ¥ = r siny then 47. MR x = recosy, y = rsing @
A )
lt}(f,ﬂ] f{l’,l.l] =
(A 7 (A} r
¢
(6) . (B) 1
.
(cy r (cy
(0} 1 (D) 1

696/V [12]




a8, f x = r cose, ¥ = csing then the.

' fn- 7?9-'»
value of oxE oyt

) a gas
@y 1 N
© 5

x o

(D} lﬁf - .'
49, Chord of curvature through pole of 49, reae o
amvan o # 2

the curve r=ge™ ! is

(&) 2r (A) zr
By 4r (8) 4r
(© e
(L) 2r? (D) 2¢ -
o 1 U “ﬁ*,uz :%.ul :5;? 50. af W X B0 f.‘h &

#r Jtulr ugr uj} mﬂﬂ'!’# .

ther the value of Ju, u,, u,)is

cqual to (A) _}
1
Ay -
¢ (8) 4
(g) 4
(C} 1 (€1
iD) 0 oy o -
logx logx ‘ E
51 M0 xS 51, ot 1 7 &
(A) 0 (4) O k
() 1 (8) 1 |
(C) 1/2 (€ 172 E
(o) 2 {0) 2 ;
696/V (13] PRO;



dboul :

(A x exis only
(8) vy axie saly
{C) both the axis

(D} Nore of the two axis

53. X 5

ﬂ"%
L [1 H]m'"

-
) 2fnLﬁ;'u

®) A
Iman. 2

dmmA
(cll M+n+l

il

() min

o ™
54. The value of [;J*[' %:,l where | ]

gdenotes greatest nteger function
g :

(A) -7/2
(8) 772
(C) o
(D) 7

696/V

[14)

rmﬁ’a,yua sln’# hmﬁ ical

117
27, —j mﬂﬁm’fﬁ?[]ﬂ

ST gETR gortE W v L B ¢
(A) -7/2

54. m[

{(8) 7/2
(C) ¢

(D) 7

i

il

|
|
|



(€)1, '-i--.'-If‘_i_-ﬁ:'-E?n':

. R
(D) I""""?-‘{ﬂ-i]

56, The who'e area of

- x
-
-a—z-4-!ﬁ- =1 5

b
{A) Fab
(B} sah
() ao

=
2b

The grea of cardioid r=af{l+cosq)

(D)
57.
i
(A}
(B}
(C) wa”
(D) 4na”

?
The value of [} " " dudyis

¥

Jgna’

8.
(A) 1/2
(B) 1/3
{(C) 1/8

(D) 1/8
E96/V

{15]

57. WG r=a(l+

(B) xma® .

(€) e

(D) %ra’ o
6. (e axay ITAME

() 1/2 s

(8) 1/3

(©) 1/6

) 1/8



. Asymptote of curve y=tan x is :
{A] x=0
(8) y=0

moagu;[uomz[;m'mmmg/:sduq

(C) x=42n+ 1}5

(D} None of these

2a .
62, v 1+ 2050 is polar equation of -

(A) Circle

(B) Parabola

(C} Elipse

(D} Hyperbola
696/v
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61. 4% y=tan x # Hiawdt &

* T9

&) 3@

O mTavs

(D} 0

(A} x=0
(B) v=0

(€} x={nt 1]-;7

(D) 5% & B i y

62, Eﬂ'ﬂ'm -?:1 +¢:osai;.

(A} 3%

(8) Surg
(C) endgm
(0) sfaamg

P | -
e



¥
% ;;,,.-m,
(A) x-+a
(B) y=zb
(C) x=y
. X ¥ _ . B _.-;
() ath g (©)
e | 3 .i'.i'.'ﬁ-"; e
s, [, dxdy - 64. 1;15-?;_ x dy
(a) 1 (A} 1
{B) -1 (B) -1
(C; o (Cy ¢
D) = (0} =
85 L ooy 65. ([ dnidy.dz o
A) = {(A) =
. (B) &x (B) 85
(C) 8 (C) 8
‘ oo () 6 L
86. According ta Dritchlet's theorem if 66. mmamm'ﬁ%
v is the region tounded by 3 x 20,y » 0,2 2 0 WM X+y2. .
x20,y20,2>0 and x+y+2 . #fewda: | '_::,
then fif x “y™'z""dx.dy.dz i< ty™ 2" dx.dy dz =2
I ' - RA |
(A} jn:'gl—@m (A) afTmansT X
[T i (8) riﬁ[‘l.! e
® e Fminy
[Vim A [Tim A AN
© I © afmen-z o
| ' 7 B
(D) F%Eﬁ (©) n?n'@g‘—d



(e .3 L R S I
(D) Non of the aliove

B8, lﬂf‘!} - {xm;- itxel

0 ., ix-0
then at x=0, fis :
(&) continuous
(8} differentiable

1€} discontinuous
{2} neither continuous nor differ.
entiable

9. The value of Integral | [ do.dr .

a'n?

(A}

3

(8} o

/6. Find the area of the region bounded
by the graph of curves f{x) = x*
and g(x)} = x*

(A} 1/6

(8) 1712

(C) 3/s

(D) 4/5

5967V
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69.

70.

(0) = & vy, A Bl
pieide.dr mramE

(A)
(8) -
€) e

0) 55
T ) = x8 g(x) = X Yhrr
¥EE 81 T aea ¥ - E
(A) 1/6
(8) 1/12
(€) 3/5

(D} 4/5




(D) 1673 a
72. The angle between the radius vec-

or and the tangent Lo the curve

r=a{1-¢cos4) is :

(A} D

{(B) B/2

{C) u/f3

(D) ®
73, For f(x)=cosx wvalue of
limit %Lf-:%’l is

Ay

{A} sina
(B) -cos a
{C) cos a

(D) -sina

74. Evaluate [:I:: J:l x.dy.dx.dz

(A) 4/35 (A) 4/35
(8) 3/35 (B) 3/35

(C) 2/35 (C) 2/35 g7
D) 1 (D) 1 :

696/V [19]



' " A
| 7§: Eﬂmﬂi |
N w
3 -=
{&) 1
Dy ©
76, Line of symmulry for curva
x?eyi=3axy is
() y=0
(B) =0
(C) y = x

1'-
.5
"K‘ i

D)y y=-x
A7, Enciination of tangent to radius vec-
tor for spiral ¢ _ ge"v"* js :
(A} 20
{B) 30
(C) «
(D) 4.
78. Eavelope of family of straignt lines

f
YoMy -3’ b7 where m s

parameter s
{A) Parabola
(B) Circe
(C) Ellipse
(D) Hyperbola

G96/v

...........
.....

v =X yam b mmh
(A) T
(8) g

(C) didga
(D) sfEwEra

o
n
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R
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50,

81.

Locus of centro of curvalure 's
(A Envt'l-:-)pe
(B) evolute
(C) circie
& varabola
Envelope oY straight  lines
Y- X E s
o
(A) y' = x
(8) x* =y
(C] y* = dax
(D) x* = day

The asymptote of the curve

X eyt=3axy

(A) x+ry+a=»0

I:H:"*}'-B:L

{

D} x-y+a=0

82. Radius of curvature of straight line

{(C) 1

(0} Nane of these

696/V
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9,

HO.

81.

g2,

BRI TR A=A Ao -
(A} I

G H 5

(C) 9

(D) Oxamz

et TN Y = mx ; W TN -
(A) ¥ = x

(B) x* =y

(C) y? = dax

(D} x? = 43y

a5 x+yi=3axy Bl Haewey 8
(A) x+yv+a=0

(B, »+y-a=0

(a) u
(5)
(C) 1

(D) &3¢ A wig =

P.7.0.
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83. For the cardioid r-a(i-cose) e g 3

valuwof ¢ is ;
(A) 20
(B) 38
(c) e6/2
(D) nsf2
84. Value of timit {2 "":13‘“"[‘!"’1 s 84.
(A) =
(B) g
[-g—] (a,b}
(0) 0
85. Degree of Homogencous function 85,
i i
f(x, ) « x—ff;%?% is -
1
1 (A} 3
(A) 3 3
2
(8) g 8) 5
(C) 1 (€)1
! 1
©) . ©) g
86. Value of Wmit X" (x<1) s 86, T (x < 1) 71w &
(A) = (A} =
(B) 1 (B) 1
(C) o (C) o
(D) -» (D) -

696/v (2



is comrect
A) D=p=1
(8} a.y

(C) 0unt
(D) 2=0x0

8B. Value of ad;I::-Si atx = 7is

(A) 1

(B) -1
(C} @

(D) Not defined

- 1 i 1 1/ dr Y

transformed o

(23]

a;l.as 5| Wi =71
(A) 1

(8) -1
(C) 0

(D) afenfim =8 ¥



90. Thmutofalpdnll >
tion (0%} = ,‘_l,,smw

{8y (o, «)
B) {-=, 0}
(€} €1 =)
0} (e, =)
91, If y=x" logx then xy,,, is equal o1.

to:

) o (&) O
(8) In
() in-1 - E
(D) 1 (O) 1 -

92. The cardinds r=a (1+cosd) and 92. gEaY r=a (1+C080) WA r=b (2
r=b (I-cosh) intersect at angles cosi) H@idﬂ#ﬁﬂ '-‘* :- it

(A) x72 B
A
By 14 {A) ns2
(B} n/4
() /3 (C) /3
(D) « (D) =

93. The curvature of the circle of ra- Q1. 4 Fasm &5 ga o T &

dius ais ; (A)
(A) »
{B) a
(B) 2
(©) 0 (Cy 0
1 1
0 3 ©) 5

696/V 28] Ry



©) 4 | .

T

A) 36

=

(8) ¢

(Ci

i

£ 33

#im - 1.9
9. ~imony Seaqualto:

96.

A) m
(B) ——
wy ™

(D) 1 : |
97. e dx FwWAE:

97. The valueof | € “ax s -
() 0 "o
(B) 3 N
i
c) 5
© 3 oz
Vi
. (D) %
Vn 2
{D) 5
696/V ’ (25]
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(8) 6a

(© da
(o) B2
99. The velume of the solid generated
2 C

by revolving the ellipse E-;-*-E-,—- 1

about the x-axis is :

{A) % xa’h

(8}
(B) T:' rab’
2
(€) 3na'b € 3rab
2 ab? . 2 n?
(0) 5 nab (D) 5 nab
lﬂﬂ-l:ﬁjﬂrdﬂ'dr is equal to : 100. E;“'rdadrm MR
# na’
" = ™
2 at
® ® S
? https://www.rmlauonline.com % P
32’ Whatsapp @ 9300930012 () 3 ) oty
(€ T Send vour old paper & get 10/- 4 . SN
IS QU dud 3y 3T 10 vadr aOrd, 4

(D} %ﬁz Paytm or Google Pay & (D) -j-l'lﬂz
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